oooo -oboogo

ggboboobogogboo

gb2207v010

0 O
1 00 1
2 00 1
2.1 OOODO . e e e e
22 DOOOD0 .« .o e 2
3 0O0400Od 2
31 OO by OODOO . oo e e s 4
4 0000000 4
4.1 OOOD0 .o e
4.2 00000000 .« .. 0 e e s 5
5 004000 6
6 0UO40O0DOOO 7
1 OO0

gbobooooooboooobobobobooooooobooooboobobOoboboooboobOobOoboOobooon
oboobooooobooboboooooooooobOoboobobobooooooobOobOoboobooboooooonog
oboooooboobooboboboboooooooooobooboboboboboooooobOobOobobooobooonoog
oooooooboooobobooooboobooooboo

gboooooooboobobobobooooooooobooboboboooooooooboobOoboboobooon
obooooobooooobooboooobobooooOooboooobOobooooboOobooooobooonoo

2 00

21 0000

ooooo0ooooooo (y)00D0OD0OUD0O0ODO0O0D0O0D0O0O0D0OD0OOD0O0UD0O0UO0O0O0DO0Or00D0O0ODOOO
Ub0yO0O0O0oOoooobooooonog

(1+k)y> —2Ry+r>=0 (1)



O00EkDQO conic parameter0 ROOOOOOOOOO
000000000k =-1.0346090 R = 10000 (mm) 0O OO

22 0000

0000000000010000000000000000000000000000000000O0oOoooon
0000000000000 00000000000 XO00O0O0O0OO000O0o0o0ooooooooooooooooo
goooooooooot

ogogd oo YOOOO ogd

(x,y,2), 000000000 O0OOO OUOOOOUOOOOOOO UOOOOODOOOOO

(x,y,2)p oooooooo oooooo oogooooo
0 1:

oo0ooo0ooooooooUdo(x,y,2), 0000000000000 w.0OO0O ¥, =w. 000000000
ooooooooboo

YP  vym

0O1m/p000000000 (x=0000000000)

3 oo

gboobooboobooboboboboo
gbooooobooogn

l0OoDO000000000000000000 (r,y,2)p 00000 xzO0OO0OO0OO0OO0OO0OD0O0000000000O0O0OOOO0O0O (z,y, 2)m
00000 xzOOOOOOOOOOOOOOOOOOOoOooOooo



(IvyaZ)Pt:A'(Ivyaz)mt+(xvyvz)mpt
ooooo- 000000000000000000y,,,0

(1 4+ &) Ymp? — 2RYmp + 1.2 =0

3)

00000000 (z,y,2)mp = 0,ymp,7.) 0000000000000 COOO0pOODLOOO Z,00000000 Z,

0o z,000000 60,0000

1 0 0
A= 0 cosblmp sinbpy,
0 —sinf,;, cosbn,
ooooooooooooo
1 0 0
(xayaz)pt = 0 COS omp Sinemp : (xayv'z)mt + <anmpa7'c)t
0 —sinf,, cosbny,
Tp = Tm
Yp = Ym €08 Omp + 2 SINOnp + Ymp
Zp = —YmSiNOpp + 2 cOS Oy + 1

oood
ooe,,0000000000000C0O0O000O0O0CO

%y

tanf,,, = 5,
Plzp=rc,xp=0

oooooo0y,d

(14 k)yp” — 2Ry, + (2" +2,°) =0
_R— /R (1+F) (2" + °)

Yp

1+ k
oodoooooooa
Oyp _ O ( ZL\ (pa_ 2 1 ,2)) 2
0z, 0z (11+k> (B = (1+F) (2 + 2%))
_ ﬁ§ (R2 _ (1 + k;) (Zp2 +$p2))_1/2 (_(1 + k‘)?zp)
= 2 (R?—(14k) (52 + zp2))_1/2
0000 Oy O
Opmp = arctan (zp (R — (1+k) (2> + %2))_1/2)
= arctan (rc (R2 -1+ k)r02)71/2>
oood

(10)



3.1 00O bydoono

ocoooobooc,00000oobo0oOooDobooOooooogo

U = (1+k)y? — 2Ry + 2 (13)

000000000000 x0=(z,y,2) 0000000000000

1 /80 ov v
_ ov 9v ov 14
" |v\11<ax’ay’ax> (14)
goooopoogood
%% X0 = 2.’E0
o ‘xo = 2(1+k)yo—2R (15)
o
87\5 Xo = 220
00000000000000 nO
2 9 9 —1/2
n= (((1+k)y0—R) + 20" + 20 ) (wo, (1 +K)yo — R, 20) (16)
= (R? — k(z0® + 20%) " (20, (1 + k)yo — R, 20) (17)

00000000 60,0000 xo=(0,ymp,7e) 0000000000000 000O00O0O

4 0O0O0O0O0O0Od4d
4.1 0000

odoodmOdoboodooodooodooogooooddm 0000000 zy-z, UO0O0O0O0O0 y, U
gooobooboobooobgon

0 (a,0,¢), 000000000000 (a,t,c), 0000

(a,csinbnyp + Ymp, ccosf +r¢), + (0,cos 6, —sinb), x ¢ (18)
= (a,csinf + y;m, + tcosb,csinf + r, — tsin b 19
P P
goooood
' = tcosf
b = csinf+ ymyp (20)
d = ccosl+r,

oooo (ab,d),+t(0,1,—tanb,,,), 00000000000000000O000DOO

1+ B +t)2 = 2RV +t) +a® + (¢ —t tanb,,,)%> =0 21
P



gooo

a = (1+k)+tan? 0,
B = 2(1+Ek)b —2R—2c tanb,,, (22)
(1+ k)b — 2RV + a2 + ¢*

)
I

good

1
t =5 (-6-VF—1ay) (23)
«
_ t/ _ 2 /
t= i \/ 1+ tan® 6,,,t (24)

ooooooooooooood (e0,0), 0000000000

t:,ﬂ+¢mﬂ9w5%(—ﬁ—xmﬁ—4wﬂ (25)

ocooooooooooogd oB,y00000O00OCQO0OO

a = 1+k+tan?6,,
B = 2kcsinbmp 4+ 2(1 + k)Ymp — 2R — 2rc.tan by, (26)
v o= (1+k)( sin? Omp + 2¢SI0 0, Yimp) — 2Resin b, + c? cos? Omp + 2¢cos OppTe

oood

4.2 0OO0000OO0OO

goboobooboobboobooboobboobbooboobotpbbobbOo0obOo0bOoOobLOOn
gbooooooooboo
p000000 M, =(ap,bp,c,), 0000000000000 O0OOOOOOOODOOOOOOODO

_ Oy
O0zp
oooo
000 mDO00O00000000000

=3 >_(—ap (B = (14 R)(ay? +¢7) " L= (B = 1+ B) (e, + ) %) (27)
M, Zp M,

1 0 0
(;L‘,y,z)mt = 0 cos Hmp sin omp : (x,y,z)pt + (‘ToayOvZO)mt (28)
0 —sinf,, cosbpy,

0000000000000000000 (20,%,20)m = (0,710 0mp — Ymp COS Opmp, —Ymyp SIN Opyyy — 7 €08 Oyypy) O
oooboooooooooo

1 0 0\ 10 0
0 cosbpyp sSinby, =1 0 cosby, —sinb,, (29)
0 —sinf,;, cosbn, 0 sinf,, cosbny



DDDDDDDDg:(R2—(1+k)(ap2+cp2))*l/zmDDDDDDDDDDD mOO000000

ap —Eay
by cos Oy — Cp Sin Oy F+u| cosbmp +Ecpsinby,,
by sin by + ¢ cO8 Oy /- sin 0, — £cp €os Oy
—¢a,
= cos O + £cp sin Oy u +

sin 0,y — £cp €08 Oy

+

0
Te Sin Omp — Ymp €08 O

—Ymp SIN O — 7 COS Oy

ap

Te SIN O — Ymp €0S Oy + by €OS O,y — € SIN Oy

—Ymp SN Oy — 7 €OS Orpy + by SiN O,y + €5 €OS Oy

gbooobOooboooobooboooooboaon
oooooooooood (ete), 000000DO0OO0O0O pO0O0OOOOOO

(@, csin Oy + Ymp + €08 Opyyp, €8I0 O, + 7 — tsin amp)p

oboocobOomubOOoOOOOOO0OOOOn

good

5 uoon

—£ay
cos O, + £cp sin Oy

sin 0, — £cp €os Oy

(33)

00000000000 00oO000DOOo0000O000DoO000ODO0D LODOOO00O ¢er,0000 Ogpm O

gooooooooon

gbboaoboobooobogobobooab

0200000000



Tarm cosbOugrm 0 —sinfym COS Ggrm — SN Pgrm O 0
Yarm | = 0 1 0 Sin Parm  COSPgrm O —L (34)

Zarm sinfgpm 0 cosBupm 0 0 1 0

€08 O grm SIN Ggrm
= —L cos ¢arm (35)

L sin 04y Sin Ggrm

00000000000000000 (z,2) = (Lcosbarm Sin arm, Lsinbgrm sindern,) 0000000000000
ooooooooooo0ooboo Lobooooobobooo

OO000> ¢arm >50000000000D00C00O0DOO0O0ODO ~009L0000000L~20ecm 0000 17mm
ooooooooooooo

6 Joooon

gboboooooooobooboboooobooooooobooboboooboobooooboobDobDOobDoboboooo
000000000000 0000o0oUo0o0oO0 (oo0)00DooooooO
gbobooooooobooboboboboooooooboobobobooooooooobooboOobobOobooon
oboboooooooboboboboooooooboobooboooboobooooooobOobOoboooboboboooooonoog
oooooooo
gbooooooooboobobobooooooooobobobobooboooooboobooboobOoboooon
oboooooboooobobooooobobooobOooboooboboooobooboobOobooooboon
ooooooboooobooboooooboboooon

00 (a0, 000000 (DOOUODODOOUDODOOOODOOOOOOOOOO)
gbooooobooooboobooooobooboooon

e JO0000OODODOUOODODLOUDOUDOUOUODUODLDOODODODODbOODO
gbooobobooooobooboobooooono
obooobOooooooboooobooboooooboon



